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Note:i)  This Question Paper consists of 30 questions.

- ii)  All the questions are compulsory.

iii) Marks for each question have been indicated against it.

iv) Each question from Q. Nos.1to 8 has four alternatives - (A), (B), (C) and (D), out
of which one is the most appropriate. Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the ques-
tion. No separate time is allotted for attempting multiple choice questions.
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1. Identify the plant part whose T.S. shows scattered closed vascular bundles and "Y'

shaped Xylem. [1]
A) Dicot stem

B) Monocot s'tem

C) Dicotleaf

D) Monocot leaf
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2. Antibiotic properties of Penicillium were discovered by - _ [1]

A)  Alexander Fleming
B)  Gregor Mendel
C) EdwardJenner
D)  Selman Waksman
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3. Name the chemical that forms the cell wall of a bacterium. =
A)  Cellulose |
B)  Chitin
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4. Identify the part indicated by the arrow in the following figure. 5 N

A) Contractile Vacuole

B) Chloroplast

C) Cytoplasm

D) Nucleus
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S. The mineral required for the synthesis of thyroxine hormone is — 1]
A) Calcium B) Sodium
) Tron D) Iodine
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6. The role of contractile vacuoles in Amoeba and Paramaeciumis S L L

A) Respiration B) Locomotion
C) Osmoregulation D) Digestion
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7. Anexample of multiple allelism is the inheritance of [1]
A) Blood group in humans B) Wheat kernal colour
C) Eye colour in Drosophila D) Skin colour in humans
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8. Haldi, Onion and Potato belong to which of the following categories: [1]

A)  Sub-aerial modification of stem

B)  Underground modification of stem

C) Modification of root for storage of food
D) Modification of adventitious roots
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9. What are mutagens? Name a chemical mutagen? [2]
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10. Distinguish between Chondrichthyes and Osteichthyes and give appropriate examples.|2]
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11. Define the term Hot Spots. Name any two hot spots found in India. [2]
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12. Expand the abbreviation BCG and state the disease it protects us from. [2]
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13. Name the phytohormones concerned with the following functions : [2]
a)  inducesripening in fruits
b)  prevents aging in plant parts
c) promotes cell elongation

d)  induces dormancy of buds and seeds.
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14.

13,

16.

18.

Draw a labelled diagram of an edible basidiomycetes you have studied. [2]
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a)  Name a hormone secreted by the Placenta.

b)  What are Pheromones?

[2]
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Give two reasons why do children of 1-5 years develop PEM? Name two diseases
such children are prone to suffer from. [2]
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Draw a neat and labelled diagram of an open stomata in a Dicot plant. [2]
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Define the following terms with appropriate examples. [2]
a)  Symbiosis

b)  Parasitism
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19. Give one appropriate example of the following : ' [2]
a)  Amarsupial |
. b)  Aprimate
¢)  Ananimal with tubefeet
d) A dorsoventrally flattened animal
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20. List any three characteristic features present in wind pollinated flowers. Name any
one such plant. [2]

g -t gedi % ure < e W e sl G e e | T @ R de w aw s

21. With the help of suitable diagrams distinguish between striated muscles and unstriated
muscles and give their locations. [4]
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- 22.a) Namethe orgéns associated with the following functions in humans:
i)  Spermatogenesis .

ii) Fertilisation

iii) Implantation

iv) Odgenesis

b) A colour blind man marries a woman with normal colour vision. A son and a
daughter born to them were colour blind. Draw a self explanatory cross to
show this.

[4]
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Name the structure that connects:

i)  muscle to a bone

i) bone to another bone

Define the following terms and indicate their normal value in a person.
i)  Blood Pressure

i) Pulse

[4]
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Define the term antibody.

Draw a neat diagrammatic sketch of an antibody structure and label the specific
antigen binding site.
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25.a)

b)
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With the help of a flow chart show the inheritance of flower colour in mirabilis
jalapa. Name the type of inheritance it exhibits.-

Define Co-dominance with an appropriate example.

[4]
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Why does Nepenthes eat insects when it is capable of carrying out
photosynthesis?

- Do as directed:

DONORS : BLOOD GROUPS THAT CAN SAFELY

BLOOD GROUP RECEIVE BLOOD FROM DONOR

O ——r
g L
AR =

| 4]
TR

IR T Wit et i = Wi @ Tath 98 W TR Gyt i § wwe 22
#e fRe o fdyAt % orER Rk

g wieR = A ERER - o S SraT A e 9 W WO U H 9hd §

O —+

B —+

AB ——

OSSR 10 [IMAHAAmY o



27. a)
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Observe the following food-chain and answer the questions that follow: [6]
Grass —— Grasshopper —— Frogs —— Snakes.

i)  Work out the energy flow in the above food chain - if the grass gets 1000
K.cal. of energy. How much energy will the snake receive?

ii) What is each step of the food chain known as?

iii) What is the ideal number of steps in a food chain and why?

List four methods we could adopt for the conservation of soil.
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Draw a neat and labelled dié.gram of the vertical section of the human eye.

Name any two common defects of the human eye and state the corrective
measure for each of the defects.

[6]
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Draw a double helical structure of DNA.
Who proposed the structure?
State Chargaff's rule.
Distinguish between DNA and RNA.
[6]
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30.a)  Give a generalised balanced equation of photosynthesis.
b) ' i)  Draw a diagrammatic representation of the Calvin Cycle.
il) Where does this process take place?

i) Define the term Kranz Anatomy. Give two examples of plants which
possesses such anatomy.
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